
NAT II Management Science Verbal

Sr Questions Answers Choice

1 Where are my spectacles?
A. There are they, on your nose!
B. There they are, on your nose!
C. Here are they, on your nose!
D. Here they are, on your nose!

2 He passed the examination in the first class because he______
A. Worked hardly for it
B. Was hard working for it
C. Was working hard for it
D. Had worked hard for it

3 Many people have law degrees____

A. But not all of them practice law
B. However it isn't practiced by all
C. And some of them do have
practice also
D. But some of them do not practice
it
E. Yet some are not undergoing
practices

4 The income tax raid was too sudden______
A. So that the man escaped
B. For the man escaping
C. Then the man escaped
D. For the man to escape

5 Every person must learn_____

A. That his time needs a wise use
B. Wise ways in his time's use
C. That how wisely his time can be
used
D. To make wise use of his time
E. To using his time in a wisely
manner

6 When I saw him through the window_____
A. I ran out to open the door
B. I have run out to open the door
C. I should run out to open the door
D. I am running out to open the door

7 If they share burden alternatively, then

A. Won't get tired
B. Will get fatigued
C. Can't feel tiring
D. Will get tired soon
E. Don't get tired

8 The modern club is simply a more refined substitute ______ the old fashioned tavern
A. For
B. With
C. Of
D. To

9 The waiter hasn't bought the coffee_______ I've been here an hour already.
A. Up
B. Till
C. Still
D. Yet

10 If you persist in telling lies to me I shall sue you _____ slander.
A. For
B. On
C. With
D. To


